New Acceptance Study

* There are two key plots for my analysis:
* The PhiEta Invariant Mass Plot
* The Gottfried-Jackson Cos(theta) distribution for both ‘peaks’

* | will show 5 different sets of data for each of these plots:
* Generated Monte Carlo
* Accepted Monte Carlo
* Accepted/Generated Monte Carlo (Acceptance Factor)
* Data
* Acceptance Corrected Data
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Generated K'Kyy Invariant Mass Vs Cos(6),GJ
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ProjectionY of binx=[11,15] [x=1.605..1.707]
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ProjectionY of binx=[11,15] [x=1.605..1.707]
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ProjectionY of binx=[21,25] [x=1.809..1.912]

.3 s | G 2R l LILEL l LILEL l | [ S l LI l LILEL I LILEL l . N BR | l LIBLEL ' | S B il
BOOOO e et DD L VL e o e A e D L e e et b S e e
=] - -
aa) = i
Gy = -
[} e -
Dl i e s e s -
= - =
=] - -
Z N i
20000 __ ............................................................................................................................................... _—
15000 :_ .............................................................................................................................................. __
10000 __ ...............................................................
E Entries 747517 ]
= Mean  —0.0008992 % 0.0006672 =
5000 __ """"""""""""""""""""""""" Std Dev 0.5769 +0.0004718 |~ __
B L L 1 i 1 L L i L 1 1 i 1 L L i 1 1 L i L L L i L L L i L L 1 i L L L i L L 1 =]

o

-08 06 -04 -02 0 0.2 0.4 0.6 0.8 1

Cos(8),GJ (unitless)

ProjectionY of binx=[21,25] [x=1.809..1.912]

Number of Entries
(=) (=) (=]
EESIS La STS
AN N [e’e] [\

e
i
o

0.1
0.08F
0.06F
0.04
0.02

0

IIIIIllllllllllllllllllllllIIIIIIIIIIII

Entries 21933

Mean  0.08455 + 0.003603 : :
StdDev  0.5336 £ 0.002548 |.......... ..........

L1 i L1l i L1 i Ll 1 i | - i Lobul i Ll i | - | i L1 i Ll

-1

-08 06 -04 02 0 0.2 0.4 0.6 0.8 1

Cos(0),GJ (unitless)

1€8

Number of Entr

Number of Entries

ProjectionY of binx=[21,25] [x=1.809..1.912]

_ =T IEnRINEE O
- 3 _!_—:_ = S l : I

1000 _.,“ ......... I R LA R ,,_ oo —
- _]__:_—:—é | : -

o0
S
S
|
i
i
&l

| =
R e

ol R e
- Entries 22638 -

_ : : .| Mean  0.08397 +0.003547 : :
200t gid Dev 0,537 0002508 [ i e

O Ll 1 i L1l i L1 i Ll 1 i | - i Labul i Ll i Lol i Ll 1 i Ll

-1 -08 06 04 02 0 0.2 04 0.6 0.8 1
Cos(0),GJ (unitless)

ProjectionY of binx=[21,25] [x=1.809..1.912]

: : : : : : | Entries 540
E| i S S s . i{ Mean 02699 £ 0.02434
= . | StdDev  0.5657 +0.01721

Ll i | - i Lobul i Ll i | - | i L1 i Ll

-1 -08 06 04 02 0 0.2 04 0.6 0.8 1
Cos(0),GJ (unitless)

O L1 i L1l i L1 i 1




ProjectionY of binx=[21,25] [x=1.809..1.912]
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